o
[N

.....................................

<0 @> (rad)
o
o [
[ [¢)]

< dcotl>)
o
=
a1

L+
S H RS B R R 2 B
T .
+ 0 .

il ded 0

+ .
B i A S

il

2 3 —1
TPlpoT (PCA t%obeamlinélf) 10

T
&
¥

q +
S S - - -

Ratio
.
T
—
——

2 3
TPlpoT (PCA t%obeamlinélf)

—=#— DQM_CKF_XiMinusNOPU_base
—— DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epochO

=
o
o

< 00, > (M)
[ee]
o
I

o
=]
I

Y

N
o

L . . .
Y
—+
¥ e
T 0 0

L1 4

107 1

-1 2 3
10 ! TPlp?T (PCA tjbobeamliné'f)

<0 / > (Y
PP, > (Y0)
O = N W N o

I

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

o
3]
TTTT T

1

[y
o2
I8



	Contents
	Page 1


